# OF INTERM. {# DF INTERM. - REV DATE BESCRIPTION
HOPE 20 Gh || ooOR WEIGHT | setrinys || oook viomk | - staes HINGES i G CHes (o o ST DETAIL "D’ 13 11/30707 | HOLMES NOW AVALL UP TO 12
cLopay | 944 94, e G s PER SECTION) | (PER IDINTY METAL SCREWS et o BEIAL 8. e S " .
93 LA : AR 3 3 g oy o o b N st wox s 1] "07/07708 | MAX HT INCREASED 70 16
EAL | 4F, 4RST _Z £Z 10 85 ] toe T0 10 4 3 Sl N AT S A0 a0, ADOEG 488
, 50770 106 3 FR T EERTY 5 " = (23 1/473/3" STie TION LM_‘M‘ oy e I PR P 15| 08/08/08 .
HOLMES | 48, 468 - Ot PRl 6 ¢ 8| TaepiNe Sérews ™ | OPTIONAL IMPACT RESISTANT GLAZING Im 4 ' 16 08/2009 | REVISED FOR TOI.
SHORT/FLUSH PANEL 14"’tg£r'15' i Fl 161071018 H ? L } 1.188 / [ HTRIIIRN, SAKOHE SEARA
,...._.._.' 10 . s
MA% SECTION PEIGHT) 1 14 GA END HINGES MEDIATE HING e s e pece *-W/ oo —_—
EQUIVALENT SECTION C UCTION: FOR ANY OF THE MODELS LISTED ON VBB wew e LT AN ol & GG, (0 781 /4T P WD Wi S
THIS DRAWING, THE FOLLOWING W-LEVEL DOORS USE EQUIVALENT SECTIONS SECTION A-a (SIDE VIEW) - .
(FROM 92" UP TO THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING). 2 THICK =1t~ MENLCE 67 C—CHANNEL
W6, W7, Ws. e

ANY OF THESE W--LEVELS MAY BE SHOWN ON THE OPTIONAL SHIPPING LABEL
ON THE END STILE,

ONE ROW OF IMPACT-RESISTANT GLAZING N EITHER TOP SEGTION
(SHOWN) OR NEXT~TO-THE-T0P SEGTION (NOT SHOWN).

MAY, GLATING SIZE 15 18~1/2" % 117,

GLADING 13 INJECTION MOLDED GE wm}t SU(2432T, AN APPROVED
CC2 PLASTIC N ACCORDANGE WITH IBC/FBG 2606,

SEE SECTIGN B—B FOR ASSEMBLY DETALS. T waron o

¢ VERNCAL TRACK,
QMNE INTERMEDIATE STILE BETWEEN SPEELA, FASTENER REQIREMENTS ONE SNAP LATCH ON
EACH EMBOSS LOCATION. ATTACHED 16 GA. PAINTED END STILES ATTACHED TO DOOR EACH SIDE GF DOOR,
W/ 106410 (TOF & BOT) AND EESTAL LTS FOR THESE ) SKiN WITH PATENTED TOG-L-LOC SYSTEM WTER, STLE
”“E"::Q’E ADHESWVE (;;umﬂs\E CENTER), N e e T (TOP, BOTTOM & CENTER).
SEE TABLE ABOVE FOR DRETALS. [~ A Foa oETE 18 GA GALV. DOUBLE END STILES 4
= 7 7 3 ATTACHED TG TOP AND BOTYOM RAIL oUTSIDE m—? o
/ WITH PATENTED TOG-L~LOC SYSTEM, HANDLE
7 ¥ A i ¥ 7 R
STHE 3
i = 7=
i —_— = oursce
ngn LR At K VIEW "B HANDLE,
T T T AT VIEW "C O R
QUISIDE KEYED LoCK SHEE By
60K R, LOGHiG m“ S’DE / LOCK ENGACES
| | | ENTD VER'HF-”-
ﬁﬁi ” ’ §| 3 | il ! 10CK POSIION (SOTH_ SIDES). TWO W‘” 5‘“
Ty h POINT LOCKING REQUIRED. 5
M £ M 1y %}A&g}i‘fs OF EACH 10CK FOR
11Hﬂ\ i AT Is )
s ! &
AN 1L

| I— A& OPTIOHAL OWTSIDE KEYED LOGK POSITION
$56-1/4%17 TA GAY, STEEL PLATE,
ONE PER C—CHANNEL. SEE VIEW 6",
MAX. DOCR WIDTH = 18'-2" t
INSIDE ELEVATIGNS

IN THE CASE OF GYPSUM WALLBOARD LOCATED AY

OR NEAR THE DOOR OPENING LOCATION THERE

ARE TWO ACCEPTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE
DOOR CPENING AND 2X6& SOUTHERN YELLOW

PINE WGOOD JAMBS MOUNTED DIRECTLY TO THE 1" DOGR OVERLAP {EACH SIDE} —]

SUPPORTING STRUCTURE TO CREATE THE
MOUNTING SURFACE. ALTERNATIVELY, THE 2x6 YELOW PINE JAMB
BRACKETS MAY BE ATTACHED DIRECTLY TO THE
SUPPQRTING STRUCTURE. SEE DETALL BELOW.

THE CENTER OF SCREW HOLE MUST BE AT com‘muous ANGL%: s.2 GAE%M?U woo

" ASTEN 0

LEAST %" FROM BOTH EDGES FOR A 5/16 AMB WITH 5/,6“_5/ & SCREWS
LAG SCREW. NOT TO EXCEEC $4" O.C. conmuaus
2)IF THE WALLBOARD iS5 NOT CUT AWAY TO ANGLE ’“W BE NOTCHED OUT FOR JAMB

EXPOSE THE UNDE)RLYING STRUCTURE (WOOD T0 STRUCTURE ATTACHMENT POINTS.
FRAMING MEMBERS), A 2%6 SOUTHERN YELLOW " GALY, STEEL TRACK FASTENZD
PINE WOOD BUCK OVER SHALL BE INSTALLED  '© 12,Gh GAY. SIERL ¥RACK CUPS,
THE WALLBOARD FRAMING, THE OPENING USING v oc T::t{g;xsc/&: B0i7 & NUT
THE JAMB ATTACHMEN

BELOW. HOWEVER, THE JAMB ATTACHMENT (@ 175 B e ek coe,
FASTENERS MUST BE OF A SUFFICIENT

INCREASED LENGTH TO ACCOUNT FOR THE

THICKNESS OF THE WALLBOARD TO ENSURE

PROPER FASTENER EMBEDMENT INTO THE N
STRUCTURAL FRAMING MEMBERS OF THE '
SUPPORTING STRUCTURE.

{~-1/2" FROM EBGE

TR

0 ,
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGSY: ‘@J

3/8"x3" LAG SCREWS ON 19" CENTERS. 1-1/8" 0.D. WASHER REQUIRED. LAG
SCREWS MAY BE COUNTERSUNK (BUT NOT REQUIREG) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

VERT] AM NT (G |

3/8"%x3" SLEEVE ANCHOR BOLTS ON 11" CENTERS {2,000 PSP MIN. CONCRETE).
WASHERS INCLUDED WIFH SLEEVE ANCHORS.

CR

1/47x3" TAPCON SCREWS ON 8" CENTERS {2,000 PSI MIN. CONCRETE) OR 5"
CENTERS (C—90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK {BUT NOT REQUIRED) TO PROVIDE A FLUSH

MOUNTING SURFACE, HORIZONTAL JAMBS DO NOT TRANSFER LCAD.

OTHER JAMB CONFIGURATIONS:

REFER TO DASMA TDS~161, A LICENSED DESIGN

PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR

JAMEB CONFIGURATIONS.

25 GA, MIN G—40 EXTERIOR STEEL SKIN

(2) LHR TOP BRACK AS WITH BAKED~CN PRIMER AND A
INI?JER BOTTOHBB CETF.'ST. USED BAKED-ON POLYESTER PAINTED TOP COAT
EXT. HI. MODELS USE (1)} 3wiIN APPLED TG BOTH SIDES OF STEEL SKIN.

ROLLER CARRIER (P/N 0120394)

STOP MOULDING BY DOOR INSTMLER (TO SUITY JAMB. CONFIGURATION
16 GA. GALY. STEEL £ND STILE

18 GA. GALV, STEEL DQUBLE END STRE
20 GA. GALY. STEEL INTER, STILE
I

/167 1D, ROUND PUSH NUT
OR LOCK NUT FASTENER
(PUSH NUT SHOWN).

GA.. GALV STEEL ROLLER HINGES

END STILES W/{4) EACH
fos/a T MEIAL 50 n
2) 1/4" SELF TAPPING SCREWS PER END HINGE. &[usn-: /59
2" DIA LONG STEM STEEL ROLLER WITH STEEL OR NYLOM YIRE. T4x5/8" SHEET METAL
ROLLER SHALL HAVE STEM THREADED FOR USE WITH 7/16° NUT OR
SHALL HAVE A STEM SMOOTH FOR USE WITH A 7/16" PUSHNUT.

UF OR LOCK

STEEL CE

PREPARATION OF JAMBS 8Y OTHERS,

7/15 |§ ROUND [" 2" GALV. STEEL TRACK FASTENED TO ! —_
12 GA. GALY. STEEL TRACK BRACKETS.

NLlT FAS‘!EN TRACK ATTACHED TO £ACH BRACKET

{LOCK NUT SHow), WATH ONE 1/47%5/8" BOLT & NuT
OR TWO 174" DIA. RIVETS.

O%TER STILES W,

?ALL C~CHANNEL
16 GA, GALY, STEEL

%—SHIP LAP JOINTS.
14 GA. GALY. ROLLER

(SEE VIEW "B}

2-1/2"
. 5/8" (TrP)

AT THE LOCATIONS NOTED ON INSIDE
ELEVANON ATTACH 'THE 67x2—1/4"%12

GA. STEEL PLATE TO THE UNDERSIDE
OF THE THE C—~CHANNEL WITH {4}
' /4 '%3/4~ SELF TAPFING SCREWS.

TOP ROLLER BRA

EE' E»\CH BRACKE‘%’ AT?ACHED WL{(UQ 6
SHEET M Su E ATTACHED
e TO TOP BRACKET WLTH {2) 1/4°%1/2" BOLTS AND
INSIDE HANDLE NUTS PER BRACKET.

6"%2-1/4"12 GA, GALV. STEEL PLATE.
ONE FER C—CHANNEL. SEE VIEW "E”,

HINGE,

EAGH HINGE FASTENED TG END
STILES W/(z #14x5/8" SHEET METAL
x3/47 SELF TAPPING SCREWS.

ONE & TALL C—CHANNEL PER DCOR SECTION.

ALY, STEEL BOTIOM SRACK

oD W () §14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTAUSION & VINYL, WEATHERSTRIP,

TRACK CONFIGURATIGN: DOGRS. UP TO. 80" HIGH
TRACK CONFIGURATION ABOVE

THE COOR OPENING DOES NOY
HORIZONTAL TRACK
MFFECT THE":\'iND LOAD RATING, DOOR INSTALLER {TC SUﬂ)_j

DOCR COUNTERBALANCE SYSTEM

SUPPGRT BY

5/16"x1-5/8" LAG SCREWS
NOT 70 EXCEED 14" O.C.

NTER HINGE

SCE\(é)

QPENING HEIGNT = DCOR HEIGHT
x
o~

NOTE: THE DESIGN OF THE
SUPPORTING STRUCTURAL ELEMENTS
SHALL BE THE RESPONSIBILITY QF
THE PROFESSIONAL OF RECORD FOR
THE BUILDING OR STRUCTURE AND
IN ACCORDANCE WITH CURRENT
BUILDING CODES FOR THE LOADS
LISTED ON THE DRAWING,

QRIGNAL DRAWINGS ARE SIGNED 1M BLVE
I WITH A RASED SEAL TEUSOTS).

DESIGN -ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495,

NC P.E. #23832,

TEXAS P.E #9513

—

()P?IGNAL. 13 CA GALY. STEElL FLAG BRACKET

oR GV, STEEL CORTINUOUS
TLgfe™ 22378 ANGLE
IBACK, CONFIGURATION
DOOR |
2" GALv, STEEL TRACK,  [HEIGHTITLY
TRACK THICKNESS: 083" =8, 170,
o
—0" [ &8

YR, 2-1/2"12 GA, GALV,

NOT TD EXCEED 47 O.C.

BRACKETS AND (1) FLAG BRACKET]

DOORS UP TO 7'0" HIGH HAVE [(6) TRACK
BRACKETS AND (1) FLAG BRACKET] OR [(7) CLPS).
DOORS 7'3" 70 B'D™ HIGH HAVE [(7) TRACK

STEEL TRACK BRACKETS OR CLPs.
DISTANCE BETWEEN BRACKETS/CLIPS

oR [(8) cuPs].

% 1/4"x3/4" SELF TAPPING SGREW PER STILE |,CCATIGN.
SEE VIEW "D") -
- 1~1/4" WIOE x 16 GA. GALY, STRA™, (1) PER DOOR SECTION, OPTIOHAL: (B) STRAPS ON 2ZND
(LOCK) SECTION (SEE INSIDE ELEVAVION), EACH SIRAP ATTACHED WITH (3) 3/47<3/4" SELF
TAPFING SCREWS {Two SOREWS To DDOR. ONE SEREW TO c—cs-lANRELJ
M ISTANY. LITES; FOR STRAPS AT
CENTER OF Dooa TOP ma BOTION SCREWS smu, 5 REPLACEB BY 1/4—20x5/8 SNS AND
FASTENED WITH (%) 1/4" NUT EACH. A CLEARANGE HOLE (9/32" DIA) MAY BE DRILLED FOR
FACH FASTENER,
ET,
TT

TS DOOR MEETS THE REGUIREMENTS OF THE |
LARGE MISSILE IMPACT AND CYCUC FESTING. i

THIS GOOR MEETS OR EXCEEDS THE DESIGN

LOADS FOR THE WIND SPEEDS USTED -
! ASCEY C FOLLOWING
CONDITICNS: 1) ENCLOSED BUILDING, 2}

MPDRTANCE FACTOR QF 1.0, 4) ANY

F SLOPE, AND 5) 50% SAFETY FACTOR.

ACCORDING TG THE FLORIDA BLDG. CODE

HAS| 2' OF WIDTH IN BUE%.(}INGS END ZONE,

BELOW

{00R

WIND SPEED (MPH)| £ 140 |150 150

EXPOSURE LEVEL, {8 or C] 8 C

MEAN ROOF HEIGHTE 30° 30 25

JIRACK CONFICURATION: DOORS 8'3" UP TO 160" HIGH

TRACK CONFIGURATION ABOVE
THE DOOR OPENING DOES NOT
AFFECT THE WIND LOAD RATING.

CENIER HANG BEQUIRED FOR
; BOORS OVER 8' HIGH

%

3" GALV. YAPERED STEEL TRACK AND ANGLE,
HORIZONFAL TRACK
1 TRACK THICKNESS: .10t". ANGL:: THICKNESS: 080" AL, Toack
. VERIICAL /HORIZONTAL TRACK 14° wnonum spacing TOPLLER (10 SUIT)
SUNCTION. TWO 1/47 BOLTS [ FROM LAST MOUNTING
& MUTS FOR EACH TRACK, SLOT TO FTRACK JUNGTION
-1
[OOCR _TVEATICAL
\_ ADCITIONAL MOUNTING SLOTS TRACK LENGTH
SPACED AT 12" CENTERS. HE‘_GQ! GE LENG
Jul - o :og.
12" ON CENTER = ;:gﬁ
e B 150

= IDpay
Building Producis
Company

8585 OUKE BLVD,
MASON, CH 45040
(513} 7704800

OPENING HEIGHT » DOOR HESGHT ———I
A 3
%
<

£ 4 TRACK
BOLT AMD HUT AT

34%, 467, £1C,),  ADDMIONAL LAG SCREWS LOCATED AT

EACH MOUNTING 1
SLOT LOCATION, | g e —
OHE 5716 x 1-5/8" LAG SCREW SPACED AT THE SAME

DISTANCES AS THE TRAGK BOLES (L€, 3-1/27, 107 22°

146",

172 287, & 40" FROM BOTTOM, ALSO TWO LAG SCREWS LOCATED

AHOVE VERTICAL /HORIZONTAL TRACK SUNCTION,

DESIGN LOADS: +48.6 P.SF. & ~52.0

P,
TEST LOADS: +70.0 P.5.F. & —78.0 PS.F.

S.F

"E11/21/94

MECH PAN-2F 143 R HAX DOUR SIZES

16'2"W x 16'0"H

DRAWN BY) M WW

DESCRIPTION:
DOUBLE CAR W8 HURRICANE PAN DOOR

CHECKED BN

Clopay Corparotion A Rights

Reverved,

DRAWING NUHBER:
B 101300

VER

DI




